

Louisiana Department of Transportation and Development

## 2023 APPLICATION FOR FEDERAL PROGRAMS DOTD TRANSPORTATION ALTERNATIVES PROGRAM

COMMUNITIES WITH POPULATIONS BELOW 50,000

			SPONSOF	RINFORMATION			
Entity Nam	ne	City of We	est Monroe				
Type of Sponsor  Check Public University/School Ch		Check	Federal Agency	<b>▽</b> Check	Local Government		
Check	State Government		Check	Non-profit	Check	Partnership (if more than 1 explain)	
Check	Other:						
Address	2305 N. 7t	h Street					
City	West Mon	roe	_State	LA	Zip (9 digi	ts) 71291–5256	
Contact Pe (Signatory)		Staci Albritton Mitche	ell	Title Mayor			
Contact Pe (Responsib		Christen Heath		Title City Clerk			
Email	cheath@w	estmonroe.la.gov		Phone # <u>318–396–2600</u>			
Fax#				UEI#			
Vendor#				_Federal ID			
		<u>B</u>	RIEF PROJI	ECT INFORMATION			
Name of p	Name of project North 6th Street Sidewalk Improvements						
Roadway o		ame (If different from		North 6th Street			
	y Purpose a Purpose (rea		project) and	Need (problem or issue)			
		afe access for pedestric		ting a large residential area <sup>.</sup> care facilities.	to the high so	chool, the business	
<u>Need:</u> The existing sidewalk system within the project area contains sections that are broken, missing or otherwise do not meet current ADA Standards. Pedestrians are not able to reach the facilities and services above by using the current sidewalk system.							

Brief Project Description (Detailed version is later in the application)							
This project will replace and repair existin required.	g concrete sidew	alks. New St	riping, and drair	nage pipe will	be installed as		
Length with Project Beginning & Ending							
Points (If applicable)	5,000 ft along North6th Street from Travis St. to Clayton St.						
			=1 = !!!				
GPS Coordinates (32° 30' 31.7", 92°	8' 25.8") to (32°	30° 3.8", 92°	7' 46.5")				
Project Location (Attach Map)	Parish(es)	Ouachita					
State House District No.	17		State Senate District No.		34		
Will the Sponsor be obtaining their own consultant (at local cost) for design and CE&I or utilizing a DOTD provided consultant?							
DOTD Provided	<u> </u>	wn Design	<b>V</b>	Own CE&I	<b>V</b>		
If hiring your own, please name the consu	DOTD Provided ☐ Own Design ✓ Own CE&I ✓  iring your own, please name the consultant:S. E. Huey Co.						
What is the type of land use adjacent to t	he project? (Resi	dential, Com	mercial, Agricult	tural, School,	Government, etc.)		
Residential, Commercial, School, Religious							
Are there any drainage issues or features associated with the property site location? Please explain.							
Yes, Drainage pipe and catch basins will be installed to create space for the new sidewalks within the right-of-way.							

FEDERAL COST SHARE REQUESTED, LOCA	AL FUNDING AND SOURC	E
Line 1-Total project cost	\$	1,040,370
Line 2-Required Local Funding	\$	440,370
LIST OF SOURCES OF LOCAL FUNDING		AMOUNT
<u>A-</u>	\$	440,370
В-	\$	
<u>C-</u>	\$	
<u>D-</u>	\$	
TOTAL AMOUNT OF LOCAL FUNDING (Should be equal to Line #2 abo	ove) <u>\$</u>	440,370
Line 7-Federal Cost Share Requested for Project (Subtract Line 2 from Line 1, Round to nearest \$100)	\$	600,000
CERTIFICATION		
The undersigned has authority to sign on behalf of the Sponsor and center into a contract to implement this project. The undersigned cer accurate to their best knowledge. The undersigned acknowledges the that funding and scope of work requested in this application shall not approval by LaDOTD. Any additional costs will be borne by the Sponsapplication may also be considered for funding under the Highway Sa	rtifies that all information po nat if the project is accepted t be changed from that orig sor. The undersigned under	rovided is complete and into an LPA program inally requested without rstands that this
	March 21, 2023	
Signature	Date	
Mayor Title	(318) 396-2600 Phone Number	
THE	Fholie Number	

Staci Albritton Mitchell

Printed Name

## ESTIMATE OF PROBABLE CONSTRUCTION COSTS N. 6TH STREET SIDEWALK IMPROVEMENTS 2023 DOTDTAP PROGRAM

ITEM NUMBER	ITEM DESCRIPTION	QUANTITY	UNIT	U	NIT PRICE		TOTAL AMOUNT	
201-01- 00100	CLEARING AND GRUBBING	1	LS	\$	10,000.00	\$	10,000.00	
202-02- 06100	REMOVAL OF CONCRETE WALKS AND DRIVES	1350	SY	\$	15.00	\$	20,250.00	
202-02- 06140	REMOVAL OF CURBS (CONCRETE)	100	LF	\$	12.00	\$	1,200.00	
203-07- 00200	BORROW (VEHICULAR MEASUREMENT) (SELECTE	100	CY	\$	25.00	\$	2,500.00	
701-03- 01002	STORM DRAIN PIPE (18" RCP/RPVCP)	400	LF	\$	150.00	\$	60,000.00	
701-03- 01002	STORM DRAIN PIPE (24" RCP/RPVCP)	800	LF	\$	170.00	\$	136,000.00	
702-03- 00100	CATCH BASINS (CB-01)	28	EA	\$	6,000.00	\$	168,000.00	
706-01- 00100	CONCRETE WALK (4" THICK)	2700	SY	\$	100.00	\$	270,000.00	
706-02- 00200	CONCRETE DRIVE (6" THICK)	750	SY	\$	110.00	\$	82,500.00	
706-04- 00100	HANDICAPPED CURB RAMPS	16	EA	\$	3,000.00	\$	48,000.00	
707-01- 00200	CONCRETE CURB (BARRIER)	50	LF	\$	50.00	\$	2,500.00	
716-01- 00100	HYDROMULCH	1	LS	\$	7,500.00	\$	7,500.00	
729-01- 00102	SIGN (TYPE A) (FURNISH AND INSTALL)	180	SF	\$	30.00	\$	5,400.00	
729-21- 00100	U-CHANNEL POST	20	EA	\$	100.00	\$	2,000.00	
732-05- 00100	REMOVAL OF EXISTING MARKINGS	1	LS	\$	2,000.00	\$	2,000.00	
732-01- 02040	PLASTIC PAVEMENT STRIPING (8" WIDTH) (THERM)	500	LF	\$	10.00	\$	5,000.00	
732-01- 02080	PLASTIC PAVEMENT STRIPING (24" WIDTH) (THERM	288	LF	\$	40.00	\$	11,520.00	
NS-ENH- 08000	HANDRAILS	50	LF	\$	65.00	\$	3,250.00	
	SUBTOTAL			<u> </u>		\$	827,620.00	
Mobilization (5-10	0%)					\$	60,000.00	
Traffic Control (2-10%)							35,000.00	
Construction Layout (0-5%)							25,000.00	
Contingencies (0-10%)								
	CONSTRUCTION COSTS TOTAL					\$	1,030,370.00	
Right-of-Way						\$	-	
Utility Relocation	*							
Miscellaneous								
OTHER COSTS TOTAL								
Total Project Costs Eligible for Disbursement Federal/Local Requested Federal Funds							1,040,370.00 1,030,370.00 58/42 600,000.00	
Local Match						\$	440,370.00	